ASSEMBLY INSTRUCTIONS

Upholstered Storage Bed with LED Lights & Wingback
Assembly Instructions

Dear Customers,

Thankyou for purchasing our product. Please read thisinstruction manual

carefully after receiving this product. It will help you assemble this product

quickly, safely and correctly. You can keep this manual for future reference.



ASSEMBLY INSTRUCTIONS

IMPORTANT

Please follow the instruction manuals and use a pad to protect
the product during your assembly.

: Note:
' 1. Should be assembled on flat ground to keep balance.
' 2. Before completing the installation, do not tighten the screws.

N e e e e e e e e e e o Em e e o o e Em mm e o Em Em e Em o Em e e o mm Em mm e e e e e e o e e e e e e = =

m For easier and better assembly, 2 or more adults are

required.
1/15



ASSEMBLY INSTRUCTIONS

PARTS LIST

(2

1PC

S =
N ¢
NV N
1PC 1PC 1PC

1PC 1PC 1PC

2PCS 2PCS 1PC

2/15



ASSEMBLY INSTRUCTIONS

PARTS LIST

4PCS 4PCS 4PCS
1PC 1PC 2PCS
1PC 2PCS 2PCS
((((((
B R
@Q @ Q
U Q Q
N N
M8x50 M8x65 M8x35
5PCS 4PCS 3PCS

3/15




ASSEMBLY INSTRUCTIONS

E F
M8x15 M8
36PCS 1PC 1PC
H

1PC 16PCS

4/15




ASSEMBLY INSTRUCTIONS

w 4PCS J

‘D 2PCS‘

5/15



ASSEMBLY INSTRUCTIONS

(((((
[C (((((ff((((/ =

4PCS

6/15



ASSEMBLY INSTRUCTIONS

¢

Open part ©@

7/15



ASSEMBLY INSTRUCTIONS

@Q
fff(r((((/

8PCS

K;/

8/15



ASSEMBLY INSTRUCTIONS




ASSEMBLY INSTRUCTIONS

11)

10/15



ASSEMBLY INSTRUCTIONS

11/15



ASSEMBLY INSTRUCTIONS

15)

‘D (((((( 16PCS ‘

16

~/

4PCS ‘

W

Don't lock the screws,

leave a gap

A

\ D

12/15



17

ASSEMBLY INSTRUCTIONS

2PCS

Put the ©) screws intothe whole and perss
it into the bottom of the “ () ” whole

drawers, and put them as shown above

Please pay attention to the position of 4

Assemble the other three drawers
in the way above. 4 drawers in total.

13/15



ASSEMBLY INSTRUCTIONS

19"

(O

Lotuslantern APP Control ler

14/15



ASSEMBLY INSTRUCTIONS

21

remove it

%)
a-
s c
c O
28
5%
R
Sr
Es
o=
c O
—E
gs
s
o)
=E
§ 3
O c
o .0
-—
o@
E o
o Q
eo
c 2
c g
o
dm
T O
L
[5)
g4z
0 ©
S n
Q5
o c
£ ©
o2
5L
o
55
X o

15/15



